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#include <iostream>
#include <vector>
#include <string>
#include <map>
#include <algorithm>
using namespace std;

struct record //BIFICRER
{

string name; //IBIEEFS

int month, day, hour, minute, time, status;

/timeXFRMNEB0E0R00FR (BICERY) FHAKIRIGERTE, AFLURAYEMGRE; statusft
EEEIA 2R
|3
bool compare(record a, record b)
{

return a.name == b.name ? a.time < b.time : a.name < b.name; //IFCRIiIEEZFPZHIR

. [ERREIREFHET

}
int dayToll = 0; //—&X89%H
vector<int> tolls; //fFEE N/ NITHIEEHER
double tollIFromZero(record r);
int main()
{
vector<string> index; //#RBFIXINAIEABRS
for(inti=0;i< 24;i++)
{
int toll;
cin >> toll;
tolls.push_back(toll);
dayToll += toll * 60;
}
int N;
cin >> N;
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vector<record> records(N); //fFERFEIBIRICSE
for (inti=0;i < N;i++)
{

cin >> records[i].name;

scanf s("%d:%d:%d:%d", &records[i]l.month, &records[i].day, &records[i].hour, &records][i

.minute);

string sta;

cin >> sta;

if (sta == "on-line")

records[i].status = 1;
else
records[i].status = 0;

records[i].time = records[i].day * 24 * 60 + records[i].hour * 60 + recordsl[i].minute;
}
sort(records.begin(), records.end(), compare);
map<string, vector<record> > result; //FESMMEXNANEIFRICSE
for (inti = 1;i < records.size(); i++)
{
if (records[i].name == records][i - 1].name&&records[i].status == 0 && records]i - 1].stat

=1) //BeiEEexy

{

S

string name = recordsl[i].name;
resultiname].push_back(recordsli - 1]);
resultiname].push_back(records[i]);
}
}
for (auto it : result)
{
vector<record> temp = it.second;
cout << itfirst << '
printf("%02d\n", temp[0].month);
double total = 0.0; //E#H
for (inti =0;i < temp.size(); i +=2)
{
double onceToll; //BRRiBIEEH
onceToll = tollFromZero(templi + 1]) - tollFromZero(templi]);
printf("%02d:%02d:%02d ", templi].day, templi].hour, templi].minute);
printf("%02d:%02d:%02d ", temp[i + 1].day, temp[i + 1].hour, temp[i + 1].minute);
printf("%d ", templ[i + 1].time - templi].time);
printf("$%.2If\n", onceToll);
total += onceToll;

}
printf("Total amount: $%.2If\n", total);
}

return O;
double tollFromZero(record r)

double sumToll = dayToll * r.day + tolls[r.hour] * rminute; //BZBBIJLRAVZERFIZE1/)N
PIENERE T
for (inti =0;i < rhour;i++) //BEIAXALNGEIZEA
{
sumToll += tolls[i] * 60;

}
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return sumToll / 100; //B{UMNDEEHATT
}
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